Multiply and Divide by Positive Powers of Ten (E)

Find each product or quotient.

2,6348 x 100 = 4,69 X 100 =
2,622:10 = 4,2 x 100 =
5,935 x 100 = 9,47 X 10 =
8,87 :10 = 9,993 X 100 =
3,7:1.000 = 1,2 X 1.000 =
4,9525:1.000 = 7,3 x10 =

6 X 1.000 = 0,7 x 100 =
7,66 X 1.000 = 9,39:10 =
0,49 x 100 = 55:1.000 =
8,8993:100 = 1,5x 100 =
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ultiply and Divide by Positive Powers of Ten (E) Answe

Find each product or quotient.

2,6348 X 100 = 263,48 4,69 X 100 = 469
2,622:10=0,2622 4,2 x 100 =420
5,935 x 100 =593,5 9,47 X 10 = 94,7
8,87 :10 = 0,887 9,993 x 100 =999,3
3,7:1.000=0,0037 1,2 X 1.000 = 1.200
4,9525:1.000 = 0,0049525 7,3x10=73

6 X 1.000 = 6.000 0,7x100=170

7,66 X 1.000 = 7.660 9,39:10=10,939
0,49 x 100 =49 5,5:1.000 = 0,0055
8,8993:100 = 0,088993 1,5x 100 =150
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